8 | 5 ¥ 4 | 3 [ 2 l !
]
NOTES, UNLESS OTHERWISE SPECIFIED: I '@"E‘ l —_3: o = =
TABLE CHANGE FOR NEW BALLAST
BASEPLA
] [T | m |t LS H
FOR TYPE 2 ASSEMBLY
ADDED 100kg OF WEIGHT T0
TYPE 2 ASSEMBLY
¢ G
Port section on AA x2
ltem| Description Drawing/Description
1 | Ballost weight support structure 89-GP—-1000-4002
2 | Hordened insert 89-GP-1000-4003
F 3 _[Ballost _boseplate (Type 1) 89—CGP—1000-4004 F
- & 4 |Bollast weight 89-GP—1000-4005
5 | Boseplote washer 89-GP-1000-4006
6 [ISS locating pin 89-GP—-1000-4007
7 | Support structure retaining pin | @19 x 50 grip SS
1 self lacking pins —
8 | Bollost weight retaining pin 919 x 100 grip SS
self locking pins
9 | ISS locating pin cap screws M12 x 35
E 10 | Support structure cap screws M12 x 60 E
11 | Support structure set screw M12 x 30 flot point
12_ ) Boseplote mounting bolts M24 x 170, 40
threaded
J 13 [ Bollost weight cop screws M12 x SO
" 14 | Boseplate Nuts M12 =
a.b,c,d refer to 50,25,12.5 and 6.25Kg weights respectively,
drowing 4005 sheets 1 to 4.
D ISS locotor pins removed for clority b
- ¥ — B
-
7 i
Al I L
¢ Lﬂ.L “}’I' J I c
Il
FU{
. Al I |3 }
gl I P
AN Il 2
Y —d '%
° g
g
lal
7] | AT OR DOMFYSG MABER | NOMDICUTURE O DESCRPTION | emoor [wm
PasTs UST
Ui ORGP =
R e GEMINI >
-y DLl SmarcSTESeeanen e
S S o et & v = BALLAST W1EYIglEIT1ASSEMBLY
]
i el e e = N il I T T,
mmmmu u:ﬂ R b Eu D2 | — Isen 1 o uc
8 | 7 5 t 4 f 3 2 I 1





